Math 1513 - College Algebra

Week 1 Discussion Board Questions

Evaluate the following expressions, be sure to show ALL steps:

1.
6-(—3)*+4—-3+4+5-2+22-5+2

: (6-—3*)+4—(3+4+5-2+2%) —5+2
> (6-(—3)+4-3+4+5-2+22—-5)+2
* 6-(—3*+(4—-3+4)+5-24+2%)—5=2
> 6-((—3)°+4-3+4+5- (242> -5+2))
" (6-(—3)*+4-3)+(4+5-2+2>-5=+2)
i (6-—3*"*73) 44 (5.-242° —5) + 2
. (6--3*+4)-3+4+(5-2+2°-5+2)
' 6-(—(3°+4)—3+4)+5-2+(2°—5+2)
. 6-(—3)°+(4—-3+4+5)-(2+2°-5)+2
" 6-(—3>+4)—(3+4+5)-(2+2*°-5+2)
. 6-(—3)2+4—-3+4+5-2+22-5+2
13.

6-—(3+4-3+4+5-(2+2°-5+2))
" (6-(—3)2+4-3) =4+ (5-2+2)°-5+2
" (6-(=3)*+4-3)+(4+5-2+2*7%) =2
" (6-(=3)>+4—-3)+(44+5)- (2+2*° - 5+2)
" (6-(—3)*+4-3+(4+5-2+2%) —5)+2
" (6-—3°+4—-3)+(44+5-2)+ (2> —5) +2
o (6-(=3))°+(4—3)+(4+5)-24+22-5+2
20.

(6-(=3)>+4—-3+4+5) - (2+2°—5) +2



